Intermediate Algebra with CF (A) Name KC -
Multiple Choice FINAL REVIEW Units 1 -3 /

‘Period

1.1 . Ican demonstrat'e'understanding of how to repr_e__veni a région on a graph with an
' inequality. =< ey Fa B oy o

1.Graphy < —2x + 7
A. B.

v

. e . 9
2. Which region is the feasible region of the system of inequalities given below?

y=x ~
1
ys-—zx+5 -
a. 1
b. 2
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y<2x-1
x+y
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3. Graph the system of inequalities {

P11

1>

Graph 2x — 7y > —14
Y.

4.




—
1.2  Icande

monstra ' L-world situati
frate ur?derstandmg of real-world situations that can be modeled as linear
€quations or inequalities.

5.Sal : o
an dl );(:Nantssto buy her friend a bouquet for his birthday. She wants it to contain both carnations
ses. She has $28.00 to spend. Carnations cost $1.43 each and roses cost $2.36 each.

Which graph below represents the possible combinations of numbers of carnations and roses
Sally can afford to buy?

....................
..............
-------------

roses

-----------
..........
..........
.........

carpalions  »g carnations g

carnations

6. Jason is buying wings and hot dogs for a party. One package of wings costs $7. Hot dogs
cost $4 per pound. He must spend at least $40. Write an inequality to represent the cost of

Jason’s food for the party.

|
b. 7x+4y <40

c. 7x+4y>40
Y d. 7x+4y <40

7. A grocer buys cases of almonds and walnuts. Almonds are packaged 20 bags per case and
walnuts are packaged 25 bags per case. The grocer pays $40 per case of almonds and $25 per
case of walnuts. The grocer orders no more than 300 bags of almonds and walnuts together and

will pay no more than $400.

The profit on each case of almonds is $17 and the profit on each case of walnuts is $15.

Which of the following are constraints for the situation above? Choose ALL that apply.
(A. 20x + 25y <300)
B

& s 25y <

D. 17x+ 15y =C

{E. x =2
F. y=20




' 1 1 ing problem and
1.3 Ican represeht real world situations as a linear prz,;,’rgg;lrzioi sp
demonstrate an understanding of how to find reasonabie

' jective function:
8. Given the feasible region shown, what is the maximum value of the objectiv

p(x) = dx+ 4y
i
A. 0 2
(DN
B. 60 ‘

TIN5, 2
D. 276 . 0}* 10 (30, 0) x
1 [ |

-

2.1 . Ican demonstrate understanding of the definition of a funct:‘ibiz‘ andcan i ey
- determine when relations are functions given a graph, table orreal-world .~ .
Situation, . AT T B G Cn L T g B s

9. Is this a function?

WISl k] &[w|Lix
N

a. YES

10. Determine if the following graph is a function.

_ .‘F .




G. ] F ]l . .

d. 5

12. Gi i
2. Given the following function f() = —x% 4 2, find f(=5).

b, =23
c. -27
d. 23

13. Using the table below find f(x) =2 = fx)
0 4
a.0 1 2
b. -4 > 0
/ 3 2
1
d. 4

Answer #14 and #15 using the graph f(x) and the table g(x) below.

[ x | 960
';.' : 2 -4
SR A R 7 3

I8

www.analyzemath.com

14. Determine if the statement is true or false. ‘
U > )
f(=2)>g(-2) Circle: True or!False \

15.  The x-coordinate of the x-intercept of f(x) is less than the x-coordinate of the x-intercept

of g(x).
Circlr False
@,gl 0) (e
11

—3.5’ {0




. oni, on represente
I can demonstrate understanding of the significant features of a function rep d

2.3 r an equation and the relationship these fea‘tures Ifal'.'e to real-u.)orlcyi. |

by a graph, a table, o
situations. ‘

16. Determine which of the following statements are false.

a. The domainis =2 < x < 2 A £

b. Therangeisy > -2

¢. The x intercepts are (—2,0) (—1,0) (1,0) (2,0)

i L N L 1

d. The y-intercept is (0,4)

17.  What is the domain and range of the function graphed below?

f

a. Domain: x <

Domain: All Reals, Range:y > 4

¢.  Domain: All Reals, Range: All Reals

d. Domain: x < 4, Range: All Reals
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‘3.1 I can demonstrate T G T RS -
» B Te u‘;’;‘f u"derstandmg a.bout exponential functions and compare situations
: quations for exponential functions to those for linear functions.

18. The :
student enrollment E of a high school was 1240 in 1990 and increased by 15% per year

until 1996. Which exponential growth model shows the school’s student enrollment in terms
of t, the number of years since 19907

i\l E =15(1240)

b) E=1240(1.15)
Sy E=1240(15)"

d) E=0.15(1240)'

k
(LUl | +19

19. What type of function is f(x) = 6500(0.05)*?

a) Linear function
b) Quadratic function
c) Exponential Growth function [

ml Decay functioi™,

20. What type of function is shown in the table?

/’Ca) Linear ﬁm —12 -2 N\
b) Quadratic function =7 2 |y
c) Exponential Growth function —2 6 |y
d) Exponential Decay function 2 }g H

3.21 can use t'ables 'a'nd' grv ph_sf_ to_Soli{e' égprn;e#'tidl equatwnsmcludmgreal world Sitiiétiéhs"aﬁd o

" translate between representations. ;.

21. The number of bacteria in a sample doubles every day. The table shows the culture for

days 0 through 4. If the sample has 64 bacteria on day 3, how many did it start with on day
0?

DAYS 0 1 2 3 4

# of bacteria 0 I\, 22 LY

a) 512 b) 192



22. The graph on the right shows the projected ARG = /
population of Coleman, Texas from 1990 to 2080, 35000 _ :
which grows at a rate of 2% annually. Estimate the IOV =5 e e o
population in the year 2050. ' e / -
25000 : : ““//A —T
F_'.'. AR R -“ : .
a) 16,000 20000 |-——t—t— /_ -
20,000 el A
c) 24,000 e $ i S
d) 29,000 0 D= et IR0 S50 8 B I N I

YAA

5000 5530 a0 50 60 70 80 90 100

33 Ican evaluate exponenttal functtons in the form y —'abx and relate the meanmg to o
S the context of a real- world sztuatzon Ot : ' £
23. You drink a beverage with 120 milligrams of caffeine. Each hour, h, the amount of
caffeine, ¢, in your system decreases by 12%. How many milligrams of caffeine will you
have in your system after 4 hours? !
a) 25.88 mg ,)o(‘,_()\j%
b) 71.96 mg)
c) 105.60 mg
d) 422.40 mg

24. Suppose you deposit $2000 in an account that pays 6.5% annual interest. What is the

balance after 3 years if the interest is compounded yearly?
Use the function f(t) = 2000 (1 +.065)".

a) $2,134.32
b) $5,835.96

$2,415.90

d) $2.168.51

3 4 I can demonstrate understandzng of the szgmf cant features of a graph of
i exponenttal functton and thetr relattonshlp to real world sztuattons

25. What is the asymptote of the equatlons y =4( 5)’“'3 + 2

a) y=-3
b) y=.5
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